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H/w Q. Which of the following metals can easily be cut with a knife?
/ Frefefiad o @ o orq oAt =1eh & SATET & sh1eT ST EehdT 22

) /sodiummﬁ%m /
_/b) Manganese/ﬁleﬂva /
¢) Zinc/SEam /
d) Tin/feA /




SSC CHSL 2022-23

), w8 4 eifean o o o 2
/ AN 39 =M% ¥ T € h1el ST Hehd| %@_%
Teh TR THIsHATI ST & ST <i7al & Hhe
T BT € | a

®* Out of all the given options, Sodium 1s a

softer metal and can be easily cut with a
knife. It 1s a highly reactive metal that i1s
silvery white 1n color.
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Q.1 Which among the following is a vector quantity?

et # & o afem afr g o /
S.S.C. TS CHSL (T-I) 15 ST, 2017 (11 - dTedt)

b) |Angular momentum / W k]
(c) Work / & S

(d) Time /&7 ./

(a) Heat/W/
P P _
/
v

g



3 ofiferes Tfrrt foms afmmr 3 oy R oft Ffda

Tdl 8, 37 9iewr URT (Vector quantity) - ed ol S
_—
‘Hol‘l 3‘||°|‘| ('°|{U| ®|Q"| ]%Rgllq'i Ol‘l HIY, |O|'EJ('| ‘?i‘|‘>| Sl

34T€rﬂf JeehlT &, clqohlq QTUT ﬁﬁﬁ Trf%r aa_@tr
mﬁm

®* Those physwal quantities which have definite

direction as well as magnitude are called vector
quantities. For example, momentum, impulse,

acceleration, force, displacement, velocity, weight,

\

electric Tfield, torque, magnetic field, magnetic

_— ——

induction, angular moinentum, magnetic moment, etc.

—
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Q.2 Which of the following 1s a vector quantity?
_TAfaRed ® 9 SH-6f afder URT 2 2 ya
S.S.C. JAMATET CHSL (T-I) 15 SR, 2017 (11 - 9Tl

S

(a) Electric current / Irel%d IRy

(b) Electric ﬂux/l%l'acl SGELS /

(¢) Electric charge /fél"iil?f AT
/ (d)»f Electric ﬁelcw EBK & /
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Q.3 Formula for distance 1s :
" U I AT 2 %
S.S.C. 3Heed CHSL (T-1) 10 SHaRT, 2017 (I1-9TeT)

B

\/(a)'(speed X time/TTid x 99T
(b) time/speed/ e /

(c) speed x acceleration / il x T
(d) velocity / speed/ajT/]TFcr j
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* et = {1/ qH

®* sneed = distance / time

*~distance = speed x time
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Q.4 Which among the following ¥s not A unit of distance?

Aetdtad 9 9 sni-et gl <At TRiR? B
— $.S.C. e CHSL (T-I) &) ST, 2017}1-111??})
[
(a) Light Year / SCAMCL /
/4 (b)| Longsec/cT- |@/

(C) Astronomical Unit/@ﬁfﬁ/'q EEAH

//(d) Parsec / TREH /
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° Wﬁm ECaH (Astronomical/llrgt)
@; - Td YRg% (Parsec) g % HEIh §, Sieih

AT (Longsec) Ao TehdE] ot TfRT At
- — - -

*The light-year, astronomical unit and

parsec are units of distance, while the
longsec unit 1s not a unit of any amount.
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Q.5 The instrument used for measuring air pressure 1s called

‘/<>|ng|®| ! TT9 o I3 Fed 2|

4 (2) Anemometer/THTHATHIT
~//(b)\flgarometelr / a@ﬂa

-~ —
_/(c) Hygrometer / EDILIER
__~(d) Thermometer/ THTHICT
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* JIIHSAY ETel 3! |G o {eT SIHTEL sl STFTT L

- 2 SO H I T ST 1<l 3T ST QBT 6w
T Gohd BIaT 2| AUHIET T SaTs | shilieh R aNt

1 GG ST Hohd 2dl 21 SUHIeT shl aiTs H hiten
TSS9 GHEH hl Gohd adT @l

®* A barometer 1s used to measure atmospheric

@ pressure. A sudden fall of mercury 1n the
/ barometer 1s a sign of stormy weather. A gradual
fall in the height of the barometer indicates the

possibility of precipitation. A gradual rise in the
height of the barometer indicates clear weather.
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Q.6 Which mirror 1s used by doctors to examine the eyes, ears, nose and throat?

_Aeret 31i@, &1, 1en 9T et ot HT0T s o foTu Sieetl shiF-8 S99T SRt SRIT foham

ST 22 S.S.C. am?fng:rﬁﬁTs (T-I) 17 %aat\zmj(m qrefh)

/(a)[ 3T/ concav)
=/
(b) 3dcd/convex /

(c) |T¥UT/ simple
(d) @qaci/flat _/




—

° STF s, 3‘|i{9| T TAT AT ohl S A

" Seae o (Concave m1rror) HT JANT TohaT
w%maaaaﬁﬂawéswaow 9 EH T

N

HATTE H9T T Sgd ST Tidfes 3T &, f?rlaoh

ShIUT ST <hl °h|¢| H‘l‘-l 8| Wll(‘ll}}
_— —

®* Concave mirrors are used by doctors to

examine the eyes, ears and throat. A concave
mirror gives a virtual straight and very large
image when the object is very near, due to
which the work of investigation becomes

easy.
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Q.7 The image formed by a concave mirror than object.
< SIAA YU R ST Hfclfoisl & § |

S.S.C. ST MTS (T-1) 17 fds 2017 (1I-9redT)

(a) 1s always smaller/ded BT BIdT & /

(b) always larger/dad SISl BIdT &l /
(c) 1s always equal/‘éléa SIS BT &

/ (d)|can be smaller or lm T ST & Hohdl &

—F




s

* ST FUUT I M g9l (Spherical mlrro/r) %

e €8 gU a1 (T a9) | YR A ‘4{|0|<1-|
IR WETWT@WW d ] s,
Wﬁwmql =T ST 1 B Aol 2] 92 3

AT T T 2 q/%g‘qﬁwéﬂirﬁa%{:r
Rearfar (g mTET e &1

*A concave mirror is a spherical mirror. In
which light 1s reflected from the sunken plane
(deep plane). The image of an object formed by
a concave mirror can be bigger or smaller than
the object. It depends on at what position
(distance) the object 1s placed relative to the
MIrror.
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Q.8 What type of lens 1s used to correct vision of a person suffering from

Myopia?
—T7ehe 318 TN § HifSd SATh i SIS TR i oh ToTU Tohl JehT oh <1d 3T T

(R SITAT 2 2
S.S.C. 3TFATS HTdeh i (T-17/2 ?g?iag,zom (I1-9TAT)
Concave lens /?Holclvl 3L Y
(d) Cylindrical lens /THIATgehe] ¢1H

(a) Convex lens/ 3T gL /
Crossed lens/#Fq?IT[ faoeft o g
/

P /
© | |




T Teh qfaaaﬁﬁsﬂwaﬁqu

TG ol TqY
H%'T’é@trmnsﬁaﬂa? T o o =ihen % o 1
HeIdA @ hT TANT {ohaT ST 81 Selfeh LMY 9 &

o

fyamor & fou safte & =990 o 3Iqa <9 T ST TRl

SIGI ¥ 9
®* A person suffering ffom myopia can see the near

\.

object clearly but cannot see the object placed more
than a certain distance clearly. To correct this defect,

a concave lens 1s used in a person's spectacles. While

for the prevention of far-sightedness convex lens is

used 1n the glasses of the person.
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Q.9 People who wear bifocal lenses have

I QI TRl i@ o &, ST T STl B
e S.S.C. a‘iﬁr@fgﬂ\l) 14 STFZS, 2021)(I1-9TH)
7

(a) cataract / ifqaisie \/ /

(b) hypermetropia / 333‘{]"\23;[5[
(c) m opia/ﬁ%‘? ‘g’f\giﬁﬁf /

//(d) (E)resbyopia ) SeTgfe aﬁﬁg

/ v
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TTITIE'{_%"FQ (Presbyopia) 3@ hl HHSH- ?ﬂ":I?IT
/ (Power of accommodatlon) 1?31|e4 e ollos\ &
Ty A aret A1 HHT 7, Sog =t S
QL it ox feerd ST ol TI¥ T 9@ dra 34
R o e e (Bifocal lens)
o T R SR

® Presbyopia i1s a decrease in the power of

accommodation of the eye that comes with
the increase of age, due to which the person 1s
not able to see clearly the objects located at
different distances. Bifocal lens is used to
correct this defect.
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Q.10 Who invented the contact lens ?
—~ Thiede Y ol ATTShHR fhd hIT? Z
S.S.C. e CHSL (T-I) 21 S, 2@111- qreT)

(a) Enrico Fermi / TAT{hI ®HI %

(b)| Adolf Gaston Eugen Fick/:\;s‘i < 16 o
// (c) Sandford Fleming/H<®Ie t;@ﬁm\/

(d) Benoit Fourneyron / SIS BIH T




_—

o

(1888 3. )H THAT o UScH T IS Ttheh

(o
Adolf Gaston Eugen Fick) 7 Uacl d%dl

hi-ede g kT fAHToT Ug T femam)

*In 1888, Germany's Adolf Gaston Eugen
Fick manufactured and wused the first

B

successful contact lens.
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Q.11 What 1s the popular name of 'Ascorbic Acid?

_~ TEhilsieh THE T AT T8 T 82 A
P — ~~  S.S.C. 3 QﬁﬁgWﬁH(T 1) 10 S, ZOIJ(II qredt)

[ —

/(a)(ml T C

(b) Vitamin B/12 / TIeTH B2 Y
(¢) Vitamin K / ToRTHT K o~
(d) Vitamin A / TaRTHT A _/




e WEﬁTITﬁOh H&q AT J-IHSI ﬁ‘éﬁﬁ
‘q”raﬁwaﬁTﬁom SR\ c«uWT%I ﬁlﬁm

'C' T TETIHe I k%°h||®|°b 3‘“-(’| %|

——

® Scurvy 1s caused due to deﬁ01ency of
Vitamin C'. Vitamin 'C' 1s mostly found in
citrus fruits. The main symptoms of this
disease are swelling in the gums, loss of
teeth and yellowing of the face of the
patient. The chemical name of vitamin 'C'
1s ascorbic acid.
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Q.12 Name the gland that controls the functioning of other endocrine glands.

39 T T 1 T R, ST 3T 3 Frell IR o shiat shi = Rt 8940
S.S.C. SAATE HTeh TRIT (1-1) 4 S, 2019 (11- 9Tl

—_—

(a) Adrenal Gland/TUgHcT D\ﬁﬂ/

(b) Pancreas / =™
(c) Rincal Gland/ﬁﬁl’fl?ff Tifr

TI?.'&?.'{DID'@I

/ (d) [ Pituitary Gland/]
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__—
o Ul Ui Hikqsh o TR 9T H Ed Th
BI-E T 8, ST 3 JAd-HmEl R sl
(RIS il 21 SEfeTT 38 HIEeT Ufer oft ohgd @ |

® The pituitary system is a small gland located

at the base of the brain, which controls other
endocrine glands. That's why it 1s also called
the master gland.
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Q.13 Which of the following parts of the body/glands maintains the body temperature?
T & & - RO S ST SRR 3 AT % Foree S T St &7
Kl) zHypothalamusE@Q@W

/ (b) Adrenal/ Qﬁiﬂﬁ

& (¢) Thyroid/JTRiEE

/ (d) Pituitary/[4eged

.




mﬁ@éwm%ﬁﬁnﬁﬁwﬁ
“TF T T, EﬁrSlTr(DTSMH SERC]
aﬁwjlmﬁﬁﬁwmﬁr%

HAN-3H AT CADIRCANEDIEL hd| % é_g

IRk A1, %_glelu wﬁl\iy

J * Hypothalamus 1s a gland in the raln

in the human body, which controls
the hormonal system in the body. The
hypothalamus controls  various
functions of the body, such as body
temperature, hunger, thirst, etc.

Pituitary Gland
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Q.14 LPG 1s a mixture of

TSt EaRt PR

(a) Methane and Butane / Mo TR 3&25[
/ (b))\Butane and Propane/ /5?@7[ 3ﬁT/ T
/ (¢) Methane and Propan‘e / WJ@T SEE]
(d) Ethane and Propane/ 3o 3ﬁ§ S|EE]




(LPG) st T m@m Eﬁﬁ?r KOI ®e4¢v| ca
forsror %ﬁ?ﬁ 8 TSt AW morqmss
ﬁ?ﬁ%@?ﬁ'&f L1quff£d PetrSIEum Gas LPG) =l

q % fama & Mol % IQ’IK SYH ney ‘T%{QJTh

wﬁéﬁ@@u@iaﬁﬁwﬁmw

/\

® Liquefied petroleum gas (LPG) “sed for
cooking 1n homes 1s a mixture of organic gases
mainly propane and butane. The full name of
LPG i1s Liquefied Petroleum Gas (LPG). To
detect the leakage of LPG, some odorous
substance like mercaptan etc. 1s added to it.
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Q.15 Which of the following 1s the primary component of quartz?
ISt T Sfeeh Heeh Hfad § | -4 27

. 74
S.S.C. AT M.T.S. (T-I) 14 ¥, 2021 (111 9Tt

(a) Zinc /Nish \/
(b)_Aluminium /@nﬁﬁm/
/(c)) snicaﬁqﬁ@ Y

(d) Iron /ATEH /
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* FES (Quartz) gedft W MYk €I A IRT \_rlﬁ

AT @S (Mmeral)j [STHehT &I Eeeh
faforera SEiieamEs S1Oz) BT TS
EREE e W 6$ TSl ST 3TN, 3{%?1}
Slfors 3 T Todgiieh H=R 3UHl o
33|T5|ﬁ[ ﬁ?l?rUT (Frequency Control) %’H 33ﬁ'{
Wﬁﬁaﬁﬁaﬁ?ﬁﬁmwﬁl

° Quartz 1s a widely found mineral on Earth, the

main component of which 1s silicon dioxide
(S102). Properly cut plates of quartz are used
for frequency control in radio, television and

other electronic communication equipment,
and 1n crystal-controlled clocks.
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Q.16 Which of the following is an ore mineral of copper?

/ﬁﬁrﬁﬁ I Tk disl ShT 3TIEH WS § ?

S.S.C. AT M.T.S. (T-I) 14 ¥R, 2021 (111 9Tt

/_\

)a)(rl Qfoth\fchalcocne

(b) IECIY cmnabar
©) TTeHT/Galena

) h{HaT3/cassiterite
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* TThIHTEE Teh HEaUl disl shi FIEh B
e T =Wk Ieh ARG I hcd § A

{7k 2id 2

® Chalcocite 1s an 1mportant copper ore.
This metallic luster is opaque and black
to brown in colour.



SSC CHSL 2022-23

Q.17 Manganite is an ore/mineral of

TS T Teh ST / G 2l 9
S.S.C. AT CHSL (T-I) 15 SHaRT, 2017 ( 11- 9TedT)

—

4

o

(a) Beryllium / d “{lcdeuj/
(b) Chromium / AL DL

% © kl:ﬁanganese ] ﬁﬂ‘rﬁ?f/

(d) Copper / &I/
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o /
ﬂ%@@(OH) IS shT Teh 3%

e %lsuﬁamm 62%ﬁﬂ=ﬁsrtrr€|TGrmT%|

anite [MnO(OH)] 1S an ore of
manganese. About 62% manganese 1s

found 1n 1t.
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Q.18 What 1s the pH of Water?
9Tt &1 pH fohaT 8T 87

m 201J(1 qredl)

(c)3 /
@1/




T p fordt STefi™ um?ﬁ%—?ﬂwmm
ﬁﬁaﬁi‘d\‘ %ﬁﬂz‘@ﬁﬁﬁﬁ AT ST 1T 99T 21 pH
U914 I &S 0 ¥ 14 o Si<l BidT 2 sﬂerﬁnﬁﬁ;lggyrm
e Rufd 31 18 v oh|pHm=r7€ﬁ?lT% q e 7
ST BT & 7 &, 39 A (Neutral) STereelT ed 8l 7

¥ %A pH HH JTdl SIciid, bl qAT 7 9 A9 pH A
ATel et AT B 2 N

—

® In chemistry, pH 1s a scale used §0 determine the acidity
or alkalinity of an aqueous solution. The pH scale ranges
from 0 to 14. 7 1s the mean or neutral position on this
scale. The pH value of pure water 1s 7, that 1s, it 1s neither
acidic nor alkaline, 1t 1s called neutral state. Aqueous
solutions with a pH value less than 7 are acidic and
solutions with a pH value greater than 7 are basic.
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Q.19 pH of lemon juice is 4, that means 1it1s

/ﬁ?eroh{HohlpH4% BN D ok T
S.S.C. 3HIET MTS (T- 1)334_q’EEIT 2((11111?1%)

/

(a) Basic / &R /

(b){m i) /
@ Neutr;/l / 3STHIA / /
(d) None of these / sd 1

/

P
ap
3
ANy
A
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s o ™ pHm=r4%319ﬁaa’s'7ﬁw
/R 31 I8 @ T ehid T &N |

— P .
®* The pH value of lemon juice i1s 4 which

means it 1s less than 7. Hence this juice
will be of acidic nature.
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Q.20 Which gas in 1ts solid state 1s also known as dry ice?

1R 119 o1 IEeh! 316 ST H Y[k SIh T el ST = 2 G

== §.8.C. AT S Tl (T-1) 4 54, 209 (1 - TTedt)

<

-~ . / .
/ (a) lCarbon dioxide/hTsld SISHTHITSS

(b) Hydrogen / BEgSH _/
(¢) Oxygen/ ST
(d) Nitrogen / T82ISH /
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N>

/

N\ ¢ ~ Y (& ._/\ )
* 319 ShIsA SISHATHITSS i GEl T (I3 3AT3H)

110§ STET ST 21 9790 €9 9 s SESIERIES
Tefer 3Tael § TEdl ©, SAfehd STol hiale ST3ATHITES
T o, AT SaTe ol A foRaT ST <, o a8 9
mgbsor){_oﬁﬁ?dd:w ! ITH & dl & Td Ig % hl
I ST ST Bl

® Solid carbon dioxide 1s known as 'dry ice'.

Normally carbon dioxide remains in gaseous
state, but when the normal pressure of carbon
dioxide gas 1s reduced, that gas shrinks and
attains solid state and 1t freezes like 1ce.
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Q.21 Rayon is obtained from which among the following?
A AT 5 @ forgrr STH fea ST 292
p 4

/}/ =7 S.S.C. SHelET CHSL (T-T) 8 AT, 2018 (11-drefh)
“8-)e

(a) Silk /T 7

/ (b)liNoodpuﬂoms CUCZ
(c) Wool/ & | /
(d) Cotton / sh4TH /
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* TS § S ShiH M 3kt W ﬁ% OIS
T8 I TE (Wood pulp) TS ﬁ S

‘/T’h—e\artiﬁcial fibers made from cellulose are

called rayon, that 1s, 1t 1s made from the

@C

cellulose of wood pulp.
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Q.22 Which of the following 1s used as non-stick coating for cooking utensils?

/sll-u ST STt STl | (T Rad | 8 oRI7 A T-1&2eh ShileT oh ToTT ST TohdT ST @ 2
— S.S.C. AT H1eesh &4 (T-T) 10 W6 (T1-9Tet)

©
(a) Perspex/ JHUFH
= /

(b) Styrofoam / TREIGH
(¢) Polystyrene / GTTcTEeTS{A /
(d) Teflon/ ThedT ~/
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® QM1 S s ST H -1 shifeT o oI JIh
HEC IR HE IR TNIE (Teflon) d™H O ST
ST | Aedd | I8 <f9d SRt g e T uh
g eumeh AW 2| TErHE €9 ¥ I8 yard
TeATeTRISTRT T ek dieio 8, St foh
3= i} o7 A-feeeht geref 7

®* The substance used for non-stick coating in

cookware 1s known as Teflon. Actually 1t 1s a
registered trademark name given by Chimers
Company. Chemically, this material 1s a
polymer called polytetrafluoroethylene, which
1s a high grade non-sticky material.



